

1-1-2022

Discrete Causality Implies Lorenz Group: Case of 2-D Space-Times

Olga Kosheleva

The University of Texas at El Paso, olgak@utep.edu

Vladik Kreinovich

The University of Texas at El Paso, vladik@utep.edu

Follow this and additional works at: https://scholarworks.utep.edu/cs_techrep



Part of the [Computer Sciences Commons](#), and the [Mathematics Commons](#)

Comments:

Technical Report: UTEP-CS-22-13

Recommended Citation

Kosheleva, Olga and Kreinovich, Vladik, "Discrete Causality Implies Lorenz Group: Case of 2-D Space-Times" (2022). *Departmental Technical Reports (CS)*. 1652.

https://scholarworks.utep.edu/cs_techrep/1652

This Article is brought to you for free and open access by the Computer Science at ScholarWorks@UTEP. It has been accepted for inclusion in Departmental Technical Reports (CS) by an authorized administrator of ScholarWorks@UTEP. For more information, please contact lweber@utep.edu.

DISCRETE CAUSALITY IMPLIES LORENZ GROUP: CASE OF 2-D SPACE-TIMES

Olga Kosheleva

Ph.D. (Phys.-Math.), Associate Professor, e-mail: olgak@utep.edu

Vladik Kreinovich

Ph.D. (Phys.-Math.), Professor, e-mail: vladik@utep.edu

University of Texas at El Paso, El Paso, Texas 79968, USA

Abstract. It is known that for Minkowski space-times of dimension larger than 2, any causality-preserving transformation is linear. It is also known that in a 2-D space-time, there are many nonlinear causality-preserving transformations. In this paper, we show that for 2-D space-times, if we restrict ourselves to discrete space-times, then linearity is retained: only linear transformations preserve causality.

Keywords: causality, special relativity, Alexandrov-Zeeman theorem, discrete space-time.

1. Formulation of the Problem

Causality in Special Relativity: a brief reminder. According to Special Relativity Theory, nothing can travel faster than the speed of light c . Thus, an event $a = (a_0, a_1, \dots, a_n)$ that happens at moment a_0 at a spatial location (a_1, \dots, a_n) can affect the event $b = (b_0, b_1, \dots, b_n)$ (we will denote it by $a \leq b$) if and only if a signal emitted by the first event can reach the second event by traveling at a speed not exceeding the speed of light, i.e., if and only if

$$a \leq b \Leftrightarrow c \cdot (b_0 - a_0) \geq \sqrt{(a_1 - b_1)^2 + \dots + (a_n - b_n)^2}.$$

This formula becomes simpler if we use the same units for time and distance, e.g., if we measure distance in light seconds or if we measure time in meters divided by c . In these units, the speed of light becomes 1, and the formula for the causal relation $a \leq b$ takes the following simplified form:

$$a \leq b \Leftrightarrow b_0 - a_0 \geq \sqrt{(a_1 - b_1)^2 + \dots + (a_n - b_n)^2}. \quad (1)$$

Causality implies Lorentz group: general result. It is known that when the dimension n of proper space is at least 2, then any bijection of the $(n+1)$ -dimensional space-time that preserves causality is linear, and it is a composition of rotations, shifts, Lorentz transformations, scalings $a \rightarrow \lambda \cdot a$, and discrete reflections; see, e.g., [1–3].

2-D space-time is an exception. The above result is valid for space-times of dimensions larger than 2. In the 2-D space-time, when $n = 1$, there are many non-linear transformations that preserve causality. They can be easily described if we take into account that for $n = 1$, the relation (1) – which, in this case, takes the form

$$a \leq b \Leftrightarrow b_0 - a_0 \geq |b_1 - a_1|, \quad (2)$$

can be describe in an even simpler form

$$a \leq b \Leftrightarrow (a_- \leq b_- \ \& \ a_+ \leq b_+),$$

where $a_- \stackrel{\text{def}}{=} a_0 - a_1$, $a_+ \stackrel{\text{def}}{=} a_0 + a_1$, and b_- and b_+ are defined similarly. From this description, it is clear that for any two strictly increasing bijections of real line f_- and f_+ (not necessarily linear ones) the transformation $(a_-, a_+) \mapsto (f_-(a_-), f_+(a_+))$ preserves causality.

What if space-time is discrete? A natural question is: what if, in the 2-D case, both space and time are discrete, i.e., what if there exists a “quantum” of space-time, and we can only have the values temporal and spatial coordinates a_0 and a_1 proportional to this quantum? If we select this quantum as a measuring unit, this means that both values a_0 and a_1 can only take integer values. In this case, what are transformations preserving the causal relation (2)?

In this paper, we prove that in this case, any bijection preserving causality is linear.

2. Definitions and the Main Result

Definition.

- *By a causal relation on the set M of all pairs of integers (a_0, a_1) , we mean the relation (2).*
- *We say that a bijection $f : M \mapsto M$ preserves causality if for all $a, b \in M$, we have $a \leq b$ if and only if $f(a) \leq f(b)$.*

Proposition. *A bijection preserves causality if and only if it is either a shift or a composition of a shift and spatial reflection $(a_0, a_1) \mapsto (a_0, -a_1)$.*

Proof.

1°. It is easy to see that a shift and spatial reflection both preserve causality. So, to complete our proof, it is sufficient to prove that every bijection that preserves causality has the desired form. So, let F be such a bijection.

2°. Let us denote $F((0,0))$ by (b_0, b_1) . Then, the composition f of the original bijection F and a shift $(a_0, a_1) \mapsto (a_0 - b_0, a_1 - b_1)$ also preserves causality, and it transforms the point $(0,0)$ into itself. A composition of two causality-preserving transformations is also causality-preserving.

Once we know the transformation f , we can reconstruct the original transformation F as a composition of F and the opposite shift

$$(a_0, a_1) \mapsto (a_0 + b_0, a_1 + b_1).$$

Thus, if we prove that the composition f is either a shift or a composition of a shift and a reflection, then the same is true for the original transformation F .

So, it is sufficient to prove the proposition for transformations that transform $(0, 0)$ into $(0, 0)$. Hence, without losing generality, we will assume that

$$f((0, 0)) = (0, 0).$$

3°. Let us, as usual, define the strict order relation $a < b$ as $(a \leq b) \& (a \neq b)$. Let us prove that if $a < b$, then $a_0 < b_0$.

Indeed, by (2), if $a \leq b$, then $a_0 \leq b_0$. If $a_0 = b_0$, then the formula (2) implies that $a_1 = b_1$, thus $a = b$. So, if $a < b$, then we indeed have $a_0 < b_0$, and thus, that

$$b_0 \geq a_0 + 1.$$

4°. Let us define the “immediately precedes” relation as follows:

$$a \prec b \Leftrightarrow (a < b \& \neg \exists c (a < c < b)).$$

Let us prove that

$$a \prec b \Leftrightarrow (b_0 - a_0 = 1 \& |a_1 - b_1| \leq 1).$$

4.1°. Let us first prove that if $b_0 - a_0 = 1$ and $|a_1 - b_1| \leq 1$, then $a \prec b$.

In this case, the fact that $a \leq b$ follows directly from the formula (2), so all we need to prove is that there is no event c for which $a < c < b$. Indeed, if such event c existed, then, due to Part 3 of this proof, we would have $b_0 \geq c_0 + 1$ and $c_0 \geq a_0 + 1$, thus $b_0 \geq (a_0 + 1) + 1 = a_0 + 2$ and thus, $b_0 - a_0 \geq 2$, while we have $b_0 - a_0 = 1$. This contradiction shows that such an event c cannot exist and thus, that indeed

$$a \prec b.$$

4.2°. Let us now prove that if $a \prec b$, then $b_0 - a_0 = 1$. In this case, the inequality $|a_1 - b_1| \leq 1$ follows from the formula (2).

We will prove the desired result by contradiction. Indeed, let us assume that $b_0 - a_0 \geq 2$. In this case:

- in the formula (2), we can have either equality or strict inequality, and

- the difference $a_1 - b_1$, can be either non-negative or non-positive.

Let us consider all $2 \times 2 = 4$ combinations of these cases.

4.2.1°. Let us first consider the case when $b_0 - a_0 = |a_1 - b_1|$ and $a_1 - b_1 \geq 0$. In this case, $b_0 - a_0 = a_1 - b_1 \geq 0$. Then, for $c = (b_0 - 1, b_1 + 1)$, we clearly have $c \leq b$ and $c \neq b$, hence $c < b$.

We also have

$$\begin{aligned} c_0 - a_0 &= (b_0 - 1) - a_0 = (b_0 - a_0) - 1 = (a_1 - b_1) - 1 = a_1 - (b_1 + 1) = \\ & a_1 - c_1, \end{aligned}$$

so $c_0 - a_0 \geq |a_1 - c_1|$ and $a \leq c$. Since $b_0 - a_0 \geq 2$, we have

$$c_0 - a_0 = (b_0 - 1) - a_0 = (b_0 - a_0) - 1 \geq 1$$

hence $a \neq c$ and $a < c$.

So, we have $a < c < b$, which contradicts to our assumption that $a \prec c$.

4.2.2°. Let us now consider the case when $b_0 - a_0 = |a_1 - b_1|$ and $a_1 - b_1 \leq 0$. In this case, $b_0 - a_0 = b_1 - a_1 \geq 0$. Then, for $c = (b_0 - 1, b_1 - 1)$, we clearly have $c \leq b$ and $c \neq b$, hence $c < b$.

We also have

$$\begin{aligned} c_0 - a_0 &= (b_0 - 1) - a_0 = (b_0 - a_0) - 1 = (b_1 - a_1) - 1 = (b_1 - 1) - a_1 = \\ & c_1 - a_1, \end{aligned}$$

so $c_0 - a_0 \geq |a_1 - c_1|$ and $a \leq c$. Since $b_0 - a_0 \geq 2$, we have

$$c_0 - a_0 = (b_0 - 1) - a_0 = (b_0 - a_0) - 1 \geq 1$$

hence $a \neq c$ and $a < c$.

So, we have $a < c < b$, which contradicts to our assumption that $a \prec c$.

4.2.3°. Let us now consider the case when $b_0 - a_0 > |a_1 - b_1|$ and $a_1 - b_1 \geq 0$. In this case, $b_0 - a_0 > a_1 - b_1 \geq 0$. Since we only consider integer coordinates, this implies that $b_0 - a_0 \geq a_1 - b_1 + 1$.

Then, for $c = (b_0 - 1, b_1)$, we clearly have $c \leq b$ and $c \neq b$, hence $c < b$.

We also have

$$\begin{aligned} c_0 - a_0 &= (b_0 - 1) - a_0 = (b_0 - a_0) - 1 \geq (a_1 - b_1 + 1) - 1 = a_1 - b_1 = \\ & a_1 - c_1 \geq 0, \end{aligned}$$

so $c_0 - a_0 \geq |a_1 - c_1|$ and $a \leq c$. Since $b_0 - a_0 \geq 2$, we have

$$c_0 - a_0 = (b_0 - 1) - a_0 = (b_0 - a_0) - 1 \geq 1$$

hence $a \neq c$ and $a < c$.

So, we have $a < c < b$, which contradicts to our assumption that $a \prec c$.

4.2.4°. Finally, let us now consider the case when $b_0 - a_0 > |a_1 - b_1|$ and $a_1 - b_1 \leq 0$. In this case, $b_0 - a_0 > b_1 - a_1 \geq 0$. Since we only consider integer coordinates, this implies that $b_0 - a_0 \geq b_1 - a_1 + 1$.

Then, for $c = (b_0 - 1, b_1)$, we clearly have $c \leq b$ and $c \neq b$, hence $c < b$.

We also have

$$c_0 - a_0 = (b_0 - 1) - a_0 = (b_0 - a_0) - 1 \geq (b_1 - a_1 + 1) - 1 = b_1 - a_1 = c_1 - a_1 \geq 0,$$

so $c_0 - a_0 \geq |a_1 - c_1|$ and $a \leq c$. Since $b_0 - a_0 \geq 2$, we have

$$c_0 - a_0 = (b_0 - 1) - a_0 = (b_0 - a_0) - 1 \geq 1$$

hence $a \neq c$ and $a < c$.

So, we have $a < c < b$, which contradicts to our assumption that $a \prec c$.

4.2.5°. In all four cases, we have a contradiction, so indeed, if $a \prec b$, then $b_0 - a_0 = 1$. Part 4 is thus proven.

5°. Let us now define “border” relation as follows:

$$a \ll b \Leftrightarrow (a \prec b \& \exists c (b \prec c \& \forall a (a \prec d \prec c \rightarrow d = b))).$$

Let us prove that $a \ll b$ if and only if $b_0 - a_0 = |b_1 - a_1| = 1$, i.e., in other words, that $a \ll b$ if and only if $b_0 - a_0 = 1$ and $b_1 \neq a_1$.

To prove this, we need to prove:

- that if $a \prec b$ and $a_1 = b_1$, then $a \not\ll b$, and
- that if $a \prec c$ and $a_1 \neq b_1$ then $a \ll b$.

Let us prove these two statements one by one.

5.1°. Let us first consider the case when $a \prec b$ and $b_1 = a_1$. In this case, as we have shown in Part 4 of this proof, $b_0 - a_0 = 1$. Let us show that in this case, for all c for which $b \prec c$, there exists $d \neq b$ for which $a \prec d \prec c$ – which means that $a \not\ll b$.

Indeed, according to Part 4, the condition $b \prec c$ is satisfied only for three elements c : $c = (b_0 + 1, b_1 - 1)$, $c = (b_0 + 1, b_1)$, and $c = (b_0 + 1, b_1 + 1)$. Let us consider all three cases one by one.

5.1.1°. When $c = (b_0 + 1, b_1 - 1)$, then, as one can check, for $d = (b_0, b_1 - 1) \neq b$, we have $d = (a_0 + 1, a_1 - 1)$, thus $a \prec d \prec c$.

5.1.2°. When $c = (b_0 + 1, b_1)$, then, as one can check, for $d = (b_0, b_1 - 1) \neq b$, we have $d = (a_0 + 1, a_1 - 1)$, thus $a \prec d \prec c$.

5.1.3°. When $c = (b_0 + 1, b_1 + 1)$, then, as one can check, for $d = (b_0, b_1 + 1) \neq b$, we have $d = (a_0 + 1, a_1 + 1)$, thus $a \prec d \prec c$.

5.1.4°. In all three cases, we indeed have $a \not\ll b$.

5.2°. Let us now prove that if $a \prec b$ and $b_1 \neq a_1$, i.e., if $b_0 - a_0 = 1$ and $|b_1 - a_1| = 1$, then $a \ll c$. Let us consider two possible cases: $b_1 - a_1 = 1$ and $b_1 - a_1 = -1$.

5.2.1°. When $b_0 - a_0 = b_1 - a_1 = 1$, i.e., when $b = (a_0 + 1, a_1 + 1)$, we can take

$$c = (b_0 + 1, b_1 + 1) = (a_0 + 2, a_1 + 2).$$

In this case, if $a \prec d \prec c$, then $c_0 - a_0 = (c_0 - d_0) + (d_0 - a_0) = 2$. Since $a \prec d \prec c$, each of the two terms $c_0 - d_0$ and $d_0 - a_0$ cannot exceed 1, so the only way for their sum to be equal to 2 is when both are equal to 1, i.e., when $d_0 - a_0 = 1$ and thus,

$$d_0 = a_0 + 1 = b_0.$$

Similarly, we have $c_1 - a_1 = (c_1 - d_1) + (d_1 - a_1) = 2$. Since $a \prec d \prec c$, each of the two terms $c_1 - d_1$ and $d_1 - a_1$ cannot exceed 1, so the only way for their sum to be equal to 2 is when both are equal to 1, i.e., when $d_1 - a_1 = 1$ and thus,

$$d_1 = a_1 + 1 = b_1.$$

Here, $d_0 = b_0$ and $d_1 = b_1$, hence indeed $d = b$, thus $a \ll b$.

5.2.2°. When $b_0 - a_0 = a_1 - b_1 = 1$, i.e., when $b = (a_0 + 1, a_1 - 1)$, we can take

$$c = (b_0 + 1, b_1 - 1) = (a_0 + 2, a_1 - 2).$$

In this case, if $a \prec d \prec c$, then $c_0 - a_0 = (c_0 - d_0) + (d_0 - a_0) = 2$. Since $a \prec d \prec c$, each of the two terms $c_0 - d_0$ and $d_0 - a_0$ cannot exceed 1, so the only way for their sum to be equal to 2 is when both are equal to 1, i.e., when $d_0 - a_0 = 1$ and thus,

$$d_0 = a_0 + 1 = b_0.$$

Similarly, we have $a_1 - c_1 = (a_1 - d_1) + (d_1 - c_1) = 2$. Since $a \prec d \prec c$, each of the two terms $a_1 - d_1$ and $d_1 - c_1$ cannot exceed 1, so the only way for their sum to be equal to 2 is when both are equal to 1, i.e., when $a_1 - d_1 = 1$ and thus,

$$d_1 = a_1 - 1 = b_1.$$

Here, $d_0 = b_0$ and $d_1 = b_1$, hence indeed $d = b$. Thus indeed $a \ll b$.

Part 5 is proven.

6°. Since the relation \prec is defined in terms of \leq and the relation \ll is defined in terms of \prec and \leq , both relation \prec and \ll are preserved for each causality-preserving transformation.

According to Part 5, we have $(0, 0) \ll (1, 1)$, thus

$$(0, 0) = f((0, 0)) \ll f((1, 1)).$$

Hence, either $f((1, 1)) = (1, 1)$ or $f((1, 1)) = (1, -1)$. In the second case, we can apply a reflection and get $f((1, 1)) = (1, 1)$. So, without losing generality, we can assume that $f((0, 0)) = (0, 0)$ and $f((1, 1)) = (1, 1)$.

From the fact that $(0, 0) \ll (1, -1)$, we conclude that $(0, 0) \ll f((1, -1))$, thus $f((1, -1))$ is equal either to $(1, 1)$ or to $(1, -1)$. Since f is a bijection and $f((1, 1)) = (1, 1)$, we cannot have $f((1, -1)) = (1, 1)$, thus we have

$$f((1, -1)) = (1, -1).$$

7°. Let $a \ll b \ll c$. In this case, according to Part 5 of this proof, we have $b_1 - a_1 = \pm 1$ and $c_1 - b_1 = \pm 1$. We say that a, b , and c go *in the same direction* if $a \prec d \prec c$ implies that $d = b$. Let us show that they go in the same direction if and only if $b_1 - a_1 = c_1 - b_1$ - i.e., if and only if these differences have the same sign.

Indeed:

- if the signs are the same, then the proof is similar to Part 5.2;
- on the other hand, if the differences have different signs, then $c_1 = a_1$, so for $d = (a_0 + 1, a_1) \neq b$, we have $a \prec d \prec c$.

8°. Let us now prove that $f(x) = x$ for all $x \geq (0, 0)$. Let us consider two possible cases: $x_1 \geq 0$ and $x_1 < 0$.

8.1°. If $x_1 \geq 0$, then we have

$$(0, 0) \ll (1, 1) \ll \dots \ll (x_1, x_1) \prec (x_1 + 1, x_1) \prec \dots \prec (x_0, x_1),$$

where the first x_1 relations go in the same direction, and the remaining ones are not border relations. All these relations are preserved under any causality-preserving transformation f . Thus, taking into account that $f((0, 0)) = (0, 0)$ and $f((1, 1)) = (1, 1)$, we have

$$(0, 0) \ll (1, 1) \ll f((2, 2)) \dots \ll f((x_1, x_1)) \prec f((x_1 + 1, x_1)) \prec \dots \prec f((x_0, x_1)),$$

where the first x_1 relations go in the same direction, and the remaining ones are not border relations.

Since $(1, 1) \ll f((2, 2))$, we conclude that $f((2, 2))$ is either $(2, 0)$ or $(2, 2)$. Since $(0, 0) \ll (1, 1) \ll f((2, 2))$ go in the same direction, the differences must have the same sign, so we must have $f((2, 2)) = (2, 2)$. Similarly, we prove that $f((3, 3)) = (3, 3)$, etc., and $f((x_1, x_1)) = (x_1, x_1)$. Now, in the remaining cases, we have immediately following relations which are not border relations, this means that a_0 increases by 1, and a_1 remains the same. Thus, we have

$$f((x_1 + 1, x_1)) = (x_1 + 1, x_1),$$

etc., all the way to the desired equality $f((x_0, x_1)) = (x_0, x_1)$.

8.2°. If $x_1 < 0$, then we similarly have

$$(0, 0) \ll (1, -1) \ll \dots \ll (|x_1|, x_1) \prec (|x_1| + 1, x_1) \prec \dots \prec (x_0, x_1),$$

where the first x_1 relations go in the same direction, and the remaining ones are not border relations. All these relations are preserved under any causality-preserving transformation f . Thus, taking into account that $f((0, 0)) = (0, 0)$ and $f((1, -1)) = (1, -1)$, we have

$$(0, 0) \ll (1, -1) \ll f((2, -2)) \dots \ll f((|x_1|, x_1)) \prec \\ f((|x_1| + 1, x_1)) \prec \dots \prec f((x_0, x_1)),$$

where the first $|x_1|$ relations go in the same direction, and the remaining ones are not border relations.

Since $(1, -1) \ll f((2, -2))$, we conclude that $f((2, -2))$ is either $(2, 0)$ or $(2, -2)$. Since $(0, 0) \ll (1, -1) \ll f((2, 2))$ go in the same direction, the differences must have the same sign, so we must have $f((2, -2)) = (2, -2)$. Similarly, we prove that $f((3, -3)) = (3, -3)$, etc., and $f((|x_1|, x_1)) = (|x_1|, x_1)$. Now, in the remaining cases, we have immediately following relations which are not border relations, this means that a_0 increases by 1, and a_1 remains the same. Thus, we have

$$f((|x_1| + 1, x_1)) = (|x_1| + 1, x_1),$$

etc., all the way to the desired equality $f((x_0, x_1)) = (x_0, x_1)$.

9°. We proved that $f(x) = x$ for all $x \geq 0$. Now, we can similarly prove that for any $y \leq x$, we have $f(y) = y$, i.e., that indeed $f(y) = y$ for all y . The original transformation is a composition of this transformation f , shift, and possibly reflection, so the proposition is proven.

Acknowledgments

This work was supported in part by the National Science Foundation grants 1623190 (A Model of Change for Preparing a New Generation for Professional Practice in Computer Science), and HRD-1834620 and HRD-2034030 (CAHSI Includes), and by the AT&T Fellowship in Information Technology.

It was also supported by the program of the development of the Scientific-Educational Mathematical Center of Volga Federal District No. 075-02-2020-1478, and by a grant from the Hungarian National Research, Development and Innovation Office (NRDI).

REFERENCES

1. A. D. Alexandrov, "On Lorentz transformations", *Uspekhi Math. Nauk*, 1950, Vol. 5, No. 1, p. 187 (in Russian).
2. A. D. Alexandrov and V. V. Ovchinnikova, "Remarks on the foundations of Special Relativity", *Leningrad University Vestnik*, 1953, No. 11, pp. 94–110 (in Russian).
3. E. C. Zeeman, "Causality implies the Lorentz group", *Journal of Mathematical Physics*, 1964, Vol. 5, No. 4, pp. 490–493.